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1. If the mass of the molecular ion is odd, it contains at least 1 Nitrogen atom N

     N=14amu

     105-14= 91

2. Determine the maximum number of carbon atoms 

    91/12=7.5 Hence 1 carbon maximum is C7NH7

3. Add enough H to make up the rest of the mass (12×7) + (14×1) + H= 105

98+H=105

H=7 7H gives C7H7N    

4. Add a oxygen atom into the formula ( CH4 when adding O) 

C2NH7 => C5NOH3

Therefore the possible formulas are C7H7N and C6NOH3

 1b.  Importance of organic compound  

   - They serve as food to man

   - source of clothing to man

    - source of household and other common articles

    - source of fuel eg coal wood natural gas

1c. Difference between homocyclic and heterocyvclic hydrocarbon

	Homocyclic hydrocarbon are rings that are formed with only one to  of atoms mainly carbon
	Heterocyclic hydrocarbon consist of a cyclic structure with double and single bonds arranged alternately. 

	
	


2a. Rf= distance from baseline travelled by solute/distance from baseline travelled by solvent

   a. 8.9cm/12.2cm = 0.7 

   b.  2.4cm/12.2cm= 0.196

   c.  5.6cm/12.2cm= 0.459

2b. A is an Aldehyde 

      B is an Alkene

2c. 2,4-Dinitrophenylhydrazine test is employed for Carbonyl group. 

2d. Alkane eg CH3CH7 and CH4

Amines eg CH3CH2NH2 and  Phenylamine

Nitriles eg H3CC---N

Alkenes eg C2H4 and C3H6 

Alkynes eg C2H5 and C5H11

Esters eg CH3COOC2H5 and CH3COOCH 
